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FLLt - =X 64, 565, 175
LT = 163, 390
Bt =X 132,051 | B&4A (FLt2) R+ 20 m3
2. bmAT ;
NS 8 m3
2. 5mPL 4. OmARTi ;
Rkt A = 31,339 | MEmEE (B 1) 70 m2
T i S O I BRI
Ve = 2 25,961, 168
e+ T 2 762,800 | FEHH D 1 X
+4)
HEL 1 2V
HEL 1 2V
HmEEE 1 =X
T wb AT 1 X
0 Cadl- EHIRY £5Te) ;
e 1 =
BIIL (-27)
AR (R L = 23,079,472 | FE (o) Habf 98 m
(HepfEay7)-hA)
18-8-40 (75 /F) JEIE 43cm m & 25cm ;
AFE (%) Fabf 24 m
(H:pfEa7)-B)
18-8-40 (75 47) JEIE 55cm & 50cm ;
BEFT/ A 1kay)) -} 1 E10
(1L T (3))
18-8-40 (B ) ;
BEFT/ A 1kay)) -} 2 E10
(1T (4))
18-8-40 (B ) ;
BUEFT/ A 1kav)) -} 1 [E130
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(1T (5))
18-8-40 (B ) ;

BUEFT/N O 1kayy)-h 1 E10
(1L T(6))
18-8-40 (B JF) ;

Peys 229 m2
MEEIR

Ak 59 m2
WA HERE

JA - B3Rz 7) =] 40 m3
18-8-40 (Fi4F) FE L ;

JA - B3Rz 7) =] 10 m3
18-8-40 (Fi4F) BEL ;

BIAKY 78 m3
HAEZ Ty vv T RC-40 FET ;

BIAKY 14 m3
BAEZ T vy T RC-40 R

Bl HT Ruiav - 13 m

(K#gavr)-h)
18-8-25 (B ) ;
Bl HT Ruiav - 55 m
(Rfiav7)-+B 1£17)
18-8-25 (B ) ;

Bl HT Ruiav - 115 m
(B 1kav7)-0)
18-8-40 (B ) ;

H Hx 5 m2
T W B i =10 ;

2/))-hik 12 m2
t=35cm 18-8-40 (& JF) ;

Wy - 79 m2
t=35cm 18-8-40 (&) ;

AFE () T = 1 1,930, 766 | K:AiEbS 23 m2

Fi/E)79v47/40~0 BJF 0. 2m |
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Pay it 28 m2
MEEIR
JA - A7) =] 5 m3
18-8-40 (Fi4F) FE L ;
Bl HT Rbiav - 52 m
(K#gavr)-h)
18-8-25 (B ) ;
H HihR 0.8 m2
TR AHE R B M =10 ;
mtT = 1 188,130 | B GiAL) 30 m3
PEREE R T 2 1 33,005, 188
7 R # 1 33,005,188 |/ 34" yb 10 m
18-8-40 (B JF) ;
TOVVERN T~ 9 b 54 m
H=800 t=30 4B T GEmEDHY) ;
KT = 1 713,910
1R T = 1 713,910 | VELIHE 53 m
W=500 H=80 L=500 ;
R T = 1 1,652, 068
TREHET = 1 1,652, 068 | FH&a )} 53 m2
t=60 18-8-25 (&4F) ;
T B GRE ) 55 m2
BTy r77 RC-40 A VW E 180mm ;
) 53 m2
TREE =30
3] 108 m2
TREE =30
HEE L = 1 456, 150
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THEXSy - TAE - fij) WAL % & il il 2 R
HEEE LT i 333,300 |2/ -MEEHEE L 30 m3
RS B L
SRR T 3t 122,850 | ki 30 m3
av)—bik (BER)
BTy 30 m3
av)) bk (BER)
T = 2,613,301
TS T =« 1,624, 181 | fiisl 1 2
£H A7 sy b SR EE FEEHE 5, 000m3A ;
H 1 =Y
L G=27) 5
THAERE L 1 &V
(X&)
THAERE L 1 &V
CHES)
BbFI 1 X
(X&)
RC-40 ¥J& 100mm ;
BbFI 1 X
(X&)
RC-40 ¥J& 300mm ;
BbFI 1 X
CHES)
RC-40 ¥J& 100mm ;
BbFI 1 X
CHES)
RC-40 ¥J& 300mm ;
(5K - (A G T = 913,120 | {Bukf LD ! =
2R
b LT 1 2V
[/ C
BRI 1 X
221,524 X3, 048 (mm) 3% i ;
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TEHX4y « Tfd - FER B Az £ & #A i il R
FERIR 1 F2V
22X 1,524 X 3, 048 (mm) i ;
w8 TG -k UG - (A ] 1 X
(FxE)
w8 TG -k UG - (A ] 1 X
€ EI)
AL R S 1 F2V
(A
IERHS
AL E S 1 F2V
(B4 )
IERH
B EHT = 76,000 | AQiEFEE S 5 1 F2V
[ERAE Xy = 64, 565, 175
HiE 2 = 8, 218, 550
BISTIGE: = 1, 885, 550
TERE = 283, 550 | R a%ATE MR 1 2
BGRESCGES (5 1) = 1, 602, 000
B (FEHL) = 6, 333, 000
T = 72,783, 725
Bl gy = 22,491, 000
T =5l = 95, 274, 725
— R A = 16, 425, 275
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